
   

161

RRD

AJS

BJF

RRD

   

   

   

   

BEARING DETAILS (1 OF 2)

SHEET NO. 25 OF 42 SHEETS

113161  
 

 

   

 

 

   

 

  

 USER NAME =

PLOT SCALE =

PLOT DATE =

REVISED

REVISED

REVISED

REVISED

NO.
SECTION COUNTY

ILLINOIS FED. AID PROJECT

55 COOK/DUPAGE         

TOTAL

SHEETS

SHEET

NO.RTE.

22-1HB-R

CONTRACT NO. 60K77

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

F.A.I.DESIGNED -

-

-

-

CHECKED

DRAWN

CHECKED

   

   

   

   

   

   

   

   

   

   

F
IL

E
 N

A
M

E
s
:\

jo
l\

6
3

0
0

-
-
6

3
9

9
\6

3
4

6
\0

2
8

\m
ic

r
o

s
\c

a
d

d
 s

h
e
e
ts

\s
tr

u
c
tu

r
a
l\

0
1

6
0

5
8

7
-
6

0
K

7
7

-
0

2
3

-
B

E
A

R
.d

g
n

=

A S S O C I A T E S 
fi

1170 SOUTH HOUBOLT ROAD

JOLIET, ILLINOIS 60431

(815) 744-4200

IDFPR NO. 184-001273

STRUCTURE NO. 016-0587

1/29/2013

brianf

Elastomeric Bearing

Assembly Type I

A

A

BILL OF MATERIAL

Bonded

~ Brg.

Bearing Assembly

Shim ‘

TYPE I ELASTOMERIC EXP. BRG.

SECTION A-A

BEARING ASSEMBLY

SIDE RETAINER

2" 2" 

Side Retainer, typ.

2" 2" 

1
"
 

 1
/2

 "
 

8
"
 

 1
/2

 "
 

Item Unit Total

Each

  Equivalent rolled angle with stiffeners

will be allowed in lieu of welded plates.

Each

 1/2 "  1/2 " 

 1/8 "

 5/16 

 5/16 

1 
1/

2 
" 

3 
1/

2 
" 

3 
1/

2 
" 

 3/4 " } Threaded Stud

with flat washer &

hex nut. (4-Reqd.)

6 1/2 " 6 1/2 " 

ELEVATION AT PIER 1 AND 3

2" 2" 5 1/2 " 5 1/2 " 

10" 10" 

1’-4"

1’-0"

G

3
"

4 
11

/1
6 

"

7 
11

/1
6 

"

1’-1"

 5
/8

 "

‘ 3" x 1’-10" x 1’-4"

 9
/1

6 
"

 1/2 "

A

 1/
2 "

7 
3/

4 
"

~ 1 1/4 " } Hole

1 7/8 "

~ 1" } x 12" Anchor bolts

(ASTM  F1554 Grade 36) with

2 1/4 " x 2 1/4 " x  5/16 " ‘ washer

under nut

A

140

28

5 -  3/16 " Steel Plates

6 - Layers of

 5/8 " Elastomer

C

C

~ Brg.

Bearing Assembly

SECTION C-C

2" 2" 

Side Retainer, typ.

ELEVATION AT PIER 1 AND 3

1 
1/

2 
" 

6 1/2 " 6 1/2 "

~ 1" } x 12" Anchor bolts

(F1554 Grade 36) with

2 1/4 " x 2 1/4 " x  5/16 " ‘ washer

under nut

1 
1/

2 
" 

TYPE I ELASTOMERIC EXP. BEARING

TYPE I ELASTOMERIC EXP. BEARING

SECTION B-B

Side Retainer, typ.

~ 1" } x 12" Anchor bolts

(F1554 Grade 36) with

2 1/4 " x 2 1/4 " x  5/16 " ‘ washer

under nut

B

B

~ Brg.

Bearing Assembly

ELEVATION AT PIER 1 AND 3

6 1/2 " 6 1/2 "

Shim Plates 

(Beams 1-3 Pier 1 and Beam 14 Pier 3)

6 1/2 "

4"

Location

10" 10"

10" 10"

Pier 3 Beam 9

Label

A

B

C

1’-1 1/4 "

2’-2 1/2 "

1’-3 3/4 "

2’-7 1/2 "

7"

1’-4 1/4 "

2’-8 1/2 "

Dimension

A

B

C

A

B

C

TYPE I ELASTOMERIC EXP. BRG.

*

(Beams 4, 12, 13, 14 Pier 1 and Beams 1, 2, 3, 11, 12, 13 Pier 3)

Shim and Fill Plates 

(Beams 5-11 Pier 1 and Beams 4-10 Pier 3)

7 
11

/1
6 

"

 7/8 " } Hole in 

Bott. Flange

3"

Pier 1

3"

STUD HEIGHT "G"

Pier 3

Beam 1

Beam 2

Beam 3

Beam 4

Beam 5

Beam 6

Beam 7

Beam 8

Beam 9

Beam 10

Beam 11

Beam 12

Beam 13

Beam 14

3"3"

3"3"

4"3"

4"

3"4"

3"3"

3"3"

3"3"

4"

4" 4"

4" 4"

4"

Anchor Bolts, 1"

B B

C

B B

C

B B

C

Pier 1 Beam 4 and 6

Pier 1 Beams 1-3, 5 and 7-14

Pier 3 Beams 1-8 and 10-14

Note:   

  Shim plates shall not be placed under Bearing 

Assembly.

7 
11

/1
6 

"

2" 2" 5 1/2 " 5 1/2 " 

2" 2" 5 1/2 " 5 1/2 " 

2" 2" 

~ 3/4 " } Bolts,  7/8 " } 

Hole in Bott. Flange

~ 3/4 " } Threaded Stud

with flat washer &

hex nut,  7/8 " } Hole 

in Bott. Flange. (4-Reqd.)

~ 3/4 " } Threaded Stud

with flat washer &

hex nut. (4-Reqd.)

1 1/4 " }  Pintles- Thread 

or press Fit 1" into 

bearing assembly.  

(4-Reqd.) 

Steel Plate Extension

Fabricated Steel Extension

Bonded

BEARING ASSEMBLY

2" 2" 

 1/2 "  1/2 " 

1’-4"

1’-0"

3
"

4 
11

/1
6 

"

7 
11

/1
6 

"

1’-1"

 5
/8

 "

‘ 3" x 1’-10" x 1’-4"

5 -  3/16 " Steel Plates

6 - Layers of

 5/8 " Elastomer

1 1/4 " }  Pintles- Thread or 

press Fit 1" into bearing 

assembly.  (4-Reqd.) 

1
"
 

(Beams 1-3 and 5-11 Pier 1 

Beams 4-10 and 14  Pier 3)

(Beams 4, 12, 13, 14 Pier 1 

Beams 1, 2, 3, 11, 12, 13 Pier 3)

G

Fabricated Steel Extension

4 3/4 "

5 1/2 "

5 1/4 "

4 1/4 "

4 3/4 "

Shim Plates as required 

and Fill Plates. See Table 

A on Sheet 26 of 42 for 

fill plate heights

Notes:

  Anchor bolts shall be ASTM F1554 all-thread (or an

Engineer-approved alternate material) of the grade(s)

and diameter(s) specified. The corresponding specified

grade of AASHTO M314 anchor bolts may be used

in lieu of ASTM F1554.

  Anchor bolts at fixed bearings may be either cast in

place or installed in holes drilled after the supported

member is in place.

  Anchor bolts for side retainers may be cast in place or

installed in holes drilled before or after members are in

place.

  Drilled and set anchor bolts shall be installed according

to Article 521.06 of the Standard Specifications.

  Side retainers and other steel members required for

the elastomeric bearing assembly shall be included in the

cost of Elastomeric Bearing Assembly, Type I.

  Two  1/8  in. adjusting shims shall be provided for each 

bearing in addition to all other plates or shims and placed 

as shown on bearing details.

  Prior to ordering any material, the Contractor shall verify 

in the field all bearing height and shim thickness dimensions.

  See Sheet 26 of 42 for Steel Extension Details.

See Table C on Sheet 26 

of 42 for Steel Plate 

Extension heights




